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���������� ��$��������$����������������1���G��N����$������������� ���������������� ������� 
��� ������

����%�������������������%��1��������������������������$����������������������������������� ������������ ��������� %��
������ ���
���������� 4�� 5���
��� ��
��� ������������ ���������� ������������������� ���� Tag der Staatsgründung� ����������� ��� ������1������� ������� ���� #gaecheonjeol&� N������������������2����������������������7�������� �������:���������P����3444�%�H��������������������C�������������������� ���� �������� ������� ������  ��������������� ����������� �� $���� ����� L������ �������������� 
������� 
�$���� ��1��
��� �����C����������������� �������������������������������M�������8������/���%�����1����$��M���
Weihnachten.�2������������������������������ ������
��� ��$������ ���� ��� �������������

��� ���� ���� ������������ �������� ���������������
�����8C�����������%���U���O���������������������������%����������$�:������������ )��������������C$�� ��������� 

������������� ��������������������� ��� �
�
��
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$���� ��1��
��� ������ ������ )������������������ ����C�$�������� ���� )�����������:�1��� ����� E���������������� ���� )�����������C����� ������$$������ =���>���1������������)��
��������,�����������$�)����������������� �����H���������E�������E����$������:
�������5$$�1������������������������3	����1��
��������,��������

����$�������������������������������������������������������������� ����� ���� =�����)�� ���������������� =����� �$�� ��������� ����� ,����� 1�������������������$�������%��
�����������������Q���� ���������� ������ �������������

����� ������ ���� ������� ������ ����� ����������������)������������������������������������������
���
�����������$����1��,��������� ����������%��������������������������%������� �������� ���� ����� ��� ������� ������ �������$$C�����%�������'C������������>���������������%�����$���������R��������
��������������� �������������� ������C��������������������'�����������)C������� ���� )�����������C������ ��������� ��������  ����� ��������������$����� "��� )����������� ��� ����������� ���� ������$���/� 2���� �������� 
������������)���������������� �������������������������������������������������7>�����)���������������������������$������������
�������������� ����� ���� ������ ����� ���� ��������������������>�C����������)����������������
���������������� ���� ������ ���� ��� ���$�� ��������� ���� ���� 8��
��� 1�� )����������� ���������� '���������� ����� ������� ����� ��� ����������� ��������������� �������������� '���������������$������"���
������������>������������� 
����O�� ���� +��1�� ������� P����
����������������%����������C���������������������������� ���� �������� %���������� %������$�������������������������%�����������/�
�$� N�����������������������������������������������2��C�������:������������E�������1�� ��%����������G��N��������������������� ������ ���� %�����������
��� $:�� ����+�:��� 1��� ������ P���� �����  ������ tteok�manduguk�#������������ �>>����������E���������������
��� ���� ���� ��$:������ ������������&� ������ ������ ����� ���� ����� ������������������ ������ �������� G��N���� �������������$�������B��������II. Feste  �����������������
���
��>��������������1�������� ���������� $������ ���� ����������� ���B$$���������� '���� �������� ��$� ���� ����������������2������1�������������������������������������������������N���������������
������� �
��� ���� �������� 8C����� E�����������������������2���������������
�������������� ��B$$����� 
�������1��������������%��$�����C������� ,�������C�$�� ���� �����������������
�� ���������������������������������1��H�����������
�����������������������
��������BO����������������Seollal� ����Chuseok ����� ������ 
��������
��� �� 1�������� ��������1��������������� ?��� ���� ����� N�� ��� +�������1� 1�� ����+��������������������� ��������������� ���������������
�������������������������>:��������������������+������������������������������ janchi� #���������� ������� ����&� �����myeongjeol� #������������ +�:������&� 
��1�������� �������� ������ ������ ��
��� ����������2���������� ������������S
��$����������  >������ �������� 8�
���$������ 1�� �����"�� ������'�������O����� ����M� .)��������%��� ������� �>������� ���������������� ������������C���������������:���������2������������ 2����� 1�
��������� +C���� 1�� ����� 
���������� ���� ������ 1�������� ����� ���� ������������������0�����������������O��.(�                                                           ( Yun, Seo-soek: Hangug-eui pungsok janchi. Ewha University Press, Seoul, 2008, p.15 
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��C���� ������ ����������� 
��������� 

���������� ��� 8��$�� ���� 
�
����N������ ��$���������� M�S������, ���������P��������
����	���������������������������seol������������� 
�
����>����� ����� 2���� ���� 
���������� $:�$���� ���� ���� $:�$���� L������ ������	
���������,��
���
���������0������$������������2�������������L���������P��������������� L������������� L��� ������� �����������$���������������%��
������������������E�������� ���� ��� ������ +�������� ���� �����2����� 
����� ���� 
��� ���������� ����+�����������������$:��$�B��������'�������������
���2������L������������1����1������
������ 
��C���� 1��� ������� ������ ��������� 
��������� 2����������� ��� 8�
��� ����2��1�����������+��O������������8�
��������"�
����$$�$:���������������
�������Hochzeit��+��������������
���������,���1������
���1�������� �������� ������
� ��������� ������������C�$���� ����� ��� ������� ������ ���� ���������������������������������������� ��������� ����� %������������������ ������
�����B�������2���,���������������
��� �������������������� ���� ������%������+C�������:������+��������������?�������������,���1����������������$��1�������������+��O���������������� ������ ���O��� 0���� ��
��������� 8��������������������+�������������
���������
��������� ���:�������� ������ �C���� ������1���������� ������ +��O����������� $������1������ ��� �>�1����� ��$:�� %������������,���1����>��C����� #yesikjang&� ������� ��������� ���  ����
���� ������ ��>>���� �����:������� ���  ����� %��� �����7���������
��������������������������,���1��������1����������������������1����%����P����������������� ����� ������ ��� ������ ��������yesikjang� ��$������� ����� ���������� %���������� ������ �������� ���� 2��������� %��� ������� �������� ����� %��� ����O�
�����
����� ,������ ���� �����������������������2������������$$C������L�������������� �������� ,���1����� ��O������ ������������� %��� ,���1����1��������� ����'��B�������� ���� +C����� G����� =������ �������������"����������������������������B����������� ��O������ %����� +C���� ��������� ����
������ ���� ����� ����������� ���� 
�������������O�����������B�������$���������������������������������O���'����C������������,������� G������������� ���1�� ���� ����� 1��������� ���� �������� +C����� ��� ������ �������� ������� ������� ���� ������ 1��C����� ����0��������� 1�M� ���� 2�������� ���� '����>������� ���� ���� E����� ��� ���� %��� ������ %����
���������� :
��� ���� �:�$������ 2��>���������1C��������������E��������!��������������������E�������������
�������%�������2���������� ���� �������$������ !� ���� $����������>�������������������=������%����������5$���������������%�������'�������������������
�$C���������'�1���������1����������������� ������$����� %��� ������� L������������������'�����������������������������
���8��
��
���$� %���� ��� �������� �C����� ��
�� �������� L������������ %��� �������������B������� ����� ����� ���������� ����� ����� ����2�������$��������������������:�����������������������
���������:������+C�����������$:������'����������������������������������1�����������������������O��������� �����M�8C�����������=�������� $:�����������������

����$�����0��������� �����>$�
���������'����:O��� ���� +C���� ������ ���� '�C��������G��������0����������:���������%���������1�������� ������ ���� ����+C���� ������������:O���� ��������� 1������ ���� ����� ��$:�������� ����� ������� ��� ���� ������� ������������������� ������������ ���������� ����?�1������ ���������� ����������� ������ ��������� ����� ������ ��� '���������� ���� 
�1������� �������� ���� +C����� �������� ������M���1�����������������8��$������2����������+C�������>>����������$�����':������
������2��� 
��������� ���>�C������� ����>��������>����� ���� ���� '���������O�)��$��M�G���������������%������ ������������������������� ���� ������������ ���� $������ �����#�C������ ����� ���� ���� GC������ ��������&� ����������������������
�����������L������������������ ����������� ����� ����� ���� ���������� �������� ������������� ����� �B���������
����
����$������



11  

���� ���� ���� ���1�� 

���$� ���� ,���1������
��������������������������������,����1����$������1������������������%���������������� ������� ���� �������� ,���1�����C����
����������������2�����������%�����������$�� �� >��������� ��� ����� �������� ����� ���������������� ���������� ��������� ����� ���:��
����� >��������� ��� ������ ��������� ��
����C������ ����� ��� ���� ������ ���� ���������������� 
��� ���� ���� ������� ����������������� ���� ������� ��� ���� ������ 
��������
���C����� 
���� �������� '����� ����� ����G����5
�������� ���� ?��� ���� ���� ����������1����� ����� N��1�� ��$� ���� ������8����C����� ����� 
���� .
��7������� �����7����
�$�)����������.�������������:�������� ������� ���� 8����C���� ����� ������������1������ ���� ���1�� ,���1����$��������������$C�������� ������������������

)���� ���� �������� +C���� ��� ����� ��� ��������
��� ������������ 1�� �������� 
���
������������������1�����������������������#pe�baek&�� 
��� ���� ���� '���������� ����� ���>�C�������� ������������������������ %��� ����2������ %��
������� )���� ������
� $����������������������,���1�������������������0��
���������$$��� ���� '���������� ���� �������������������������1����������$:������������������ ��� ������ ���1� �������� 0����������������������� =���� 
���
�� ����� ����� ���� �������,���1������������$�������������
���������$�,���1����������� H��N����� ���� ����� ��������,���1���������1����� ����� ?����
�������� ���=�1�$��� ����� ����� ����� 2���>�������� ?������������������������������������=����������� ������ ��������� 
���� ����Geburt� ������������� $������� 
���� ���� 100�Tage�Fest�#paegil&�����$�:������������������2�������������� �$�� :
����
���� ������� ����� ���� +��
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���� ������ ��� ������� 2���� ���� ���� paegil������ ������ ����� ���� erste Geburtstag�#cheot tol&� ��$������� 
���� ����������� '������������������������������������������������������1��$����������������������������������� ���� ���� ���� ���:�����+���� ��
����$������ ������� ���������� ���������� ,����1���������������,��������
�����
������������%����������2����������������������������������� �������������� ���������2��>������������������� ���� ���� ���� ���� ����� ���� ������������� )������ ���� L������ �������� ��������������� =�������>����� ���� ���� 2������$���������+������������#toljabi&���������������� ��
��� %��� ������ ������ �����1��� ��$����������
���������+������C��������
����>���������� E����� ���� =������ �����  ��$���+������������������
�$�������P�����������+������������������������$����������������������������������.�����������.M���
����N�
���E����
�����������
��%����C�������)���������������������������2����������=������ I� ��$������ 7�
���$:��+������������
�������������

 ����$�� ���� )��������� +���� ������ ���������������� ����B���� ���� ���� ������ +����������� ���� ������� 8�
���� L���������+������C���� ����� ����1������ �������������������#H��>�����&L����$:��.
��������������  >��1�.�� ���� E������������� $:�� ������������� ���� P������ ���� ����L����$���� $��������� ����� ����� ���
��� ������������ ��������B��������������� ����$�������
��� ��������+����������������������������
������ ��$������ ���� ����� ���������� ����� %��C��������%��� ���� ���1��� ���
��� ���� ���� %������$������� 8������ ��� ����� ������� 

��� ������� ��������� =�:��������� $:�� ����� � 8�
������������������>C���� ���������������������������������������
���,���1������ �������O���L����������������������������� �������������� %�����$��� �������� ��������������������Geburtstage��P�����8��������������������$�������������������������������� 
����
��� ������
� ����� ���� ���������������� ����� ������ ���$��� ��$������ ����%�������1�������������B������������
������C������� ������ ���� ���� L������ ���� ������������ ���� ���� =�>�������������� ���������1��� 
��������� ��
�� ���� �
��� ����� �$������
��� ����� ��������� ������ +�
�����������������L�������������������������������
� ���� ������ ��� �������������� ����� ������������������������C�������P����+�
��������� ��
���� +��O� ��$������ ����� ����� ����������������60. Geburtstag�#hwangap&������������������������������1���07�����������������������������������������#	����
���Q�(3� �����&� ���������� 
�O������ ����� ���������M��<�P�����������$�:������������1���
������� ���� ��� ����� ����� ��$������ 1�� ��������,����� ���� ���� ������ ����� ���� ������
�� ������O�� ���� $������%����� P�
��������������������������������$�������������������1��,����������III. Trauerfeierlichkeiten ���� ���� %��� 
����B������ ���� 1���� �����+����� 1��� ������� ���  ����� %��� +�:��������� �������� �:���� ���� ����� �������$��������������������������������.
���������
��C����� 
��������� E����.� ����������� "���
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������ ������ ���:������ ����� ���� 
�����������$������ #jesa&��������
���Seollal�����Chuseok� ����� ���� >������� ��� P���������$�������,���� ����� N������%��� ����������E���� %��� ���� ���������������� ������ ����������� ����� ���� ���� ������ L�������������$������� 0������� ���� ���� ���� %�������������������������������+�����������$:������� 1�� ��$������� ���� ���� ����� ��� �������������������
������������1���2�����������������������
����B������������������� ���������'���������������������C������������
����������?��%�����C�� ���� ��� :
�������������������� L ������2�L����
��������� ���� 1���� ����� ������ ����� 
����B�����%��� ��������� ������
��� ������ "��� ����������������� ���� ����� ���� ����� ������ ��%����
�C����� �
� ���� ���� ����� ��$:�� %��������������� $:����� ���� ��������� G������������� 
������������� ����1������ L��� ����G��������� 1�������� ������ ����� ���������� "�$���������� ��� ���� 
��� ����� ���������������� ����� ��������� ����  ���� ���������������� ����� #parin� V� 
�$
����� ����8������1����&���)��������������G���������������������������������
���������������
����B������������������������ ����� ������� ���� ����� ������%�
������$�����)�������������������'������������:������ 2��������� ����� ��� ���� ����� �
����� '�������� ��� ������ ��������  �����������
��� ���� ��������������
��������$��������������� ��� �C������� ����� �>C��������:
���C������� ����� ����� ���� ,���������������� ���������������������1������>C���������������������,���1������ ��������5���� 1���������� $C������$�� ���� ������������� "�� ���� �����������������������������C��������
�����������+�
C���������Q����$:��������$���������������#jangnesikjang&�� ��� ���� ���� �������� ������E����
���������������������
�������$
����������������������������
���1���'������������$������� ������ ���� ������ ���� ������ ���������� 1�� $������� ����� G���� ����E���������� ������� ��� ������ ����������
�1������$������������������������������������������0���������B�����G�������������������������5�������E����
��$�������������C������������������1��������
���������� 
��C����� ����� ��� ������ �� ����+C���
���� ���� ���� :
��������� ������?������������+����������
���������������� ����������E������������
�������������'���� ���� �������
������ 1:����� ����)����������C
����� ���� ������� ��� ��� ����+�$CO�����%��
����������1�������%�������'����� 
�������O���� ��:���� ���� ����
����B������� ���� ���� ���1�� 0���� ��� ���� ����� ���� 
������ ��� E���� �������� �����'����������������� ���������������1��C������������ "���������������� E���� ���1�� ���� ����� �����1�������� 1�������� ���� ����� 
1��� �������������� 2���� ��������� ��������� ���� ����� ��:���� ���� �������
����� %��
������� �������1�� 0���� ����� ���� �������:�1��� ����
����B������� ������ ���� ����� �������:������� ����� ������ ������  ������ ����+���C����$:������+C����%��$:�
���������������������
����������$���C�����������������+���������$�������1��� ��1�������2���������1����������������C����������������������0������� ��� �������� �C����� �
��� C������ ��������� '�����$�������� ���� ���1�� ����� ���������� ���� ���� �������� ����������������$�������������������>�������������%�����������������O�R� �� +���������$���� ��� E����� �������������������:
���������
�������������������� ����� ��� ������ ������������� ����
����������O�� �
��� ����1������ ���$���� A$��
���F�������  �����1� �����)��O�� ����C������� ��
������ ������� ������� ��� ���������� ���O���,��
���� ��������� %����� ������� ������������$��
���� =����%��� ���� P������ ���� ������������������N��������� �����1���)����� �
��� ������� ������ ����������������1���� 
��� ����� ����� ����/� ���� ������ �������� ���� ������������ ����  ����� ����C���� ��������� ����� ����� ����� ����� 
�$���������� ����L������ ������
��� ����� ?�� ������  ����� 1����:O�����:����������$���������������������������� �>������� ����� �������������� ������������� ������� ���� ����������� ���� ���1������������ ��� ������$����� "��� ����� ���� ��������������������$����������$��%���������M� �
�������� ����G��������� %������� ������'��������� 
������ ������ ���� ��$���� ������
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������� �
� ���� ������� ����� ��$� ���� )����������������������
������������
��������������,�����
���
����������� ������� 1�� �������������� ������������ '�������� 1�� ���������>���������� ,��$�� 1�� ��
��� ���� ���� ���������������1���������:�1����
��2��������������� ���� ����� �������������� ��� ����  ����������� ���� %��� ������ 
��������� ���� ������%������E��������1���'��������������������
���� ������ ����� ����� ���� ����� 1��C������������������� ����� %��� ���� 
����� ����
����B���������������������1���������������� ������������0���

��������:�$������������ ����� ����� ������� ������ �� ��� ������� �������������������+���>�������
���������������� :
��� ���� ��������O���� ���� ����� ���������� ����� %��������� ��$$� ���>�����������'���� ,������������ ����  ������ ������ ����
����B��������������'����%��������������$������ ���� ��C�������� ���� ���� �� ���� $:������ �������� ����������������$�� ������ ����'��� 
������� ���� ���� 1��� ������������#hwajang&� 
������� ���� ������������� �������� ���� 
�������� ��O�����
� %���  ������������������� ��
��� ���� ���� ����������C$������� %���
��������� 5���� ���� %����������� ����������� ������� ����� ������O�������
���#��������
��&����������+��O���������� ����� �����%�����L�������� ������� �����������1���� ����� S
������������ ����������������� ��� ������� ������������ ������������ 5���� ��������� ��$� ���O���������B$��������������  ���� ����� ����� 1��C����� ������������������ ���� 1�������� ���� ���� '������$� ������ )����>���1� ���������� )���� ������������C���� ��������� ������ ����� �������������� 
��������� ���� '��:�$���� ��������� ����������� ���� ������ 
��� ���1� 1��� ������� 1�� 
���������� ������ ��
���
����O�� ���� ���� ���� ���� $:�� ����
����B������ ����� ������1��$�� %����������2������N�����G�����$��������������������������1�������� ���� ����  ���� ��� 2���� ����������$����� �
�����>�������� ������ "����������� ������� ��� 5$��� %������������ 1��������� 
������ %����� ��� ���� E���� �������1���$������ 
���� ���� ���� ������������������������������������������
�
��$�����������������
��������������������
�$������ ����� ��������� %��� %����������������������$����� ��� ������ %��� %������G����������� ������������������G���
������������ ������ %��� %������ G����� ��$� ���������������� 
�1�������$���� ���� ������ %���%������G�������%�����������
�����
����������� ���� ������ ���O��L:���� ���� �������������� 1�� 
�������� ���� �C��� %�������������
�����������������������������������?��� ���� ����� ���� ������ ����� ������ �������C��� �� ��� 2���� ����� %��� ���� 
����� ����
����B������ ���� 
����� 1������������������ ��� ����� ?���� ������ ���� ������>���B������:
����������
���������?������������ '���� ���� ������ �������� ���� �������������������������������������1C�������=�%������� ���+����������������� ���������������,����U�����?����������>C����%�������
����B������ ���
��� 
�������1��� ����1���������  ����� ������� ������ ��� ������ ������
�������������?���������#napkoldang&����IV. Andere besondere Tage )������ 1��:��� 1�� $�B���������� 
��C������2�� ��
�� ��
��� ���� %������ ����������������������������������������������������Wahlen� �����$������ ���� ���� ������ 1���
�
���� ������ ������ ��1C������ �������
��C���� 1��� +�������� ���� 1��� )��� �������� #���� ���:������ ������ ��
����$���������� ����� ����� �C��� ���� N�� ���� ����������� ���� ������ ����� ������&�� 
�$$C���������� $:�� ���� G�����'����$$����� ����� ����Valentinstag� ��� (;�� ��
����� ���� ����White Day ��� (;�� LC�1 $:�� =������ ����Elterntag�#eobeoi nal&����6��L��������$:������ 8�������� 
��������� ���B��� ����Lehrertag�#seuseung�eui nal&����(	��L����
�� �������� ������ 
����� ����G�����%�����$�� ������ ���� ��� �������������� ���� ������$� %���  :O������ 
���������
�����  :O��������� ���� '��
���� �����:�
����������#yeot&���
�����%�������������=�:$������� 
��������� %��� ���� �����������1��������� ?��%�����C����$�����>�:$��������� 1��� N��1����� 0���>����� ���������������������$������ ����� ���
������ �������� �������:������ ������
�� ������ ���� '����������
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�����N������������������=�:$����$C���R����1�%��� ������� ���������� 2�������� ����+�������������� ��
�� ��� ����������� ���� $:�����������"�
����$$�$:��������
���%�������������� ���� %��� ������ ������ ���� :O��������������� 1�� ���� ������������������������������������"�������������((�� G�%��
���� ���� Pepero�Tag�#ppepperonal&�� ���� ��������� ������.((�((�.� ���� ��� ������������ 
�$����� ���������%����������� ����� ��� ������ ���� ��� ������������+�
C������������������������ ��������  ���������� ��������� ����� ���� �������������1���0�����������8��
������ 7�>��������� ������� ���� ��������� ���� +��1�� ���������������� ���� ����� )��
������ ����?������������ 8����� ����$������� �������������=��������� ����� �
��� ������ ������� 
�$������ #�������� ��� ������ ���� ���((�((������������������1��P����:
�����
�&������� ���>������ ������ ������� ���1�������������������������������� ��
�� ���� ��������� ���� ���B��� �� ������� ����$���������������
��������������$�B������������������������������� ���$���� ������ %��� =���1�>���� ���� ��������%��������� ������� ������ ���� �������� ������������������ ��� ��������� ��������������$��������0������������������������=���1�>� $:�� ������� ���O�� ����� �������M�S
��$�����$:������+C�����2�����������������:
���� 
���
���� �
� ���� ���� %���� +���� ��������� ������� ?��� ��� ��
��� ���������� �����%���������������������������2�������������+�������������� 1�� ����� L��� ����� ���������� #���� ����� ���� ���������&� ����1���������������O������Literatur: �2�������L�����U�=��������PB��M�Kleine Geschichte Koreas���������H�,�'�����L:�������3<<	���������������"�$���������������M�����������:
���������� ������3��:
����
��
�$������3<<<���������5%�������"�$��������� ��%���M��������
�����������,���7��� ������4��
�$������(--����9���� �������M�Hangug�ui p'ungsok chanch'i��2����?��%�����7�=������ ������3<<6��.�����.����M�L�7����8�Q�������������?E8����>MII��Q�������7������I������I�����W#��>����$�����W
������&��(<�((�3<<6���. :������.����M�)���>������X���>MII�������>��������Y��(*�((�3<<6���' �)����M�.����?��
�C���������
��������%���(��LC�1�(-(-.����M��' �)�������+���������>�������?E8����>MII�������
�������I������I�����I�����Z�����Z����������/G�V(4	;��((�((�3<<6�� ��$�����������M�.����'���>$���1���.����M������������������
�����<	�<;�3<<���?E8����>MII�������$��������������I�����I���$��Z��Z�����I��(;�((�3<<6��. ���������������������������'���>$���1���.���M���������%���<��<;�3<<6��?E8M����>MII�����������%������(;�((�3<<6��.'����P����������.�"�M�������������
������������������N�����7���������?E8����>MII���������������I���;IN��������>�>��(;�((�3<<6��.'����P����������.������>�������#)���>����&�����>MII�������>����������(;�((�3<<6��.���������������������������.�"�M�Eorininal.�)����>�������#)���>����&��?E8����>MII�������>����������(;�((�3<<6���
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������"������������������� ��������#,��
�����������3<<6&������������Übung des deutschen Schrei�bens �������Seoul 6ational University��
�������
������ ������"�����$��������
�$��
�����������M����� �����"����������������������Feiertage� ��� �����������>�����1�����������#$�����%��&� '���$$������ ��������������� ���$��������� "��� ��
�� %��� ����  ������"����� ���
��� '���$������������L������������,C�$�������'���$��
����C$��������������������������������G��N����$��������������1�����B������'�C�������+���������������������������� >���������
���������������>��
�����������
�>��������������
���������������������������C����������������������������� ������ ����,���$������ 
����������� 2��������� ���>������������+��������������� ����?������������������������������� ��%������������������������������������1��������C�O���������������������@9��A� >����
�������
���#
�������1����������������������&U�������$C������������������:�
������������G��N����$����>��%���%��
�������������
�$$������������ ����� ���� ������"����� $:�������'��
����������������������������������#����1�����������%��
�������� �������&��$:�������
�$�������������������'�C���������!���� '�1��� ��$� ���� ,������B$$�����$���� !�$:�� ��������������C�������� �������  ������>�C��������
���� ��������
������� ��������M��Das Himmelsöffnungsfest ist für die Erin�nerung der Idee der Gründung Koreas bestimmt, die Idee lautet: Sei nützlich der Menschheit. Aber heute denken viele Ko�reaner, dass der Tag nur ein Feiertag ist. Ich bedauere dies und hoffe, dass mehr Koreaner der ursprünglichen Bedeutung des Feiertages gedenken. 6atürlich hoffe ich, dass dieser Tag auch außerhalb Ko�reas bekannt wird. �,��������������������
���1��)�������������������B����� ��������������1������������'����C���� 2����  ���������� ���� ���� )����������1���� ��� ������������ ���� ����� ����
�������
�������
��)�������������������M�� Hier in Korea sieht Weihnachten leider ein bisschen anders aus. Es gibt keinen Weihnachtsmarkt. Die Stadt verändert sich nicht viel während Weihnachten. Das ein�zige, was die Stadt ein bisschen weihnach�tlich aussehen lässt, sind die Tannen vor 
den großen Kaufhäusern. Aber sonst gibt es fast gar nichts mehr zu besichtigen.  Die meisten Leute in Korea stellen sich auch keine Tanne ins Haus. Machen kau�fen einen kleinen, bunten Tannenbaum, der elektrisch beleuchtet wird. Aber da der Baum schon geschmückt ist, kann man keine Freude daran finden, Weihnachts�schmuck zu kaufen. Der größte Unterschied, den ich entdeckt habe, ist, dass man hier in Korea Weih�nachten nicht mit der Familie verbringt. In Deutschland versammelt sich doch die ganze Familie zu Weihnachten. Schon zwei, drei Wochen vor Weihnachten fängt man an Weihnachtseinkäufe zu machen und am Heiligabend gibt es dann die Bescherung � alles  mit der Familie. In Korea allerdings sieht es ganz anders aus. Viele Leute verbringen den Weih�nachtstag mit Freunden oder ihren Lieb�habern. Statt zu Hause zu bleiben, treffen sich viele in der Stadt. Leute geben sich einander Geschenke, aber dass sieht der Bescherung, die man in Deutschland ge�wohnt ist, nicht ähnlich. Ich persönlich vermisse Weihnachten in Deutschland sehr. Den Weihnachtsmarkt, den süßen Geruch in der ganzen Stadt und 
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auch die Vorfreude, die man am Heiliga�bend hat. Ich hoffe, dass wenigstens du eine schöne Weihnachtszeit genießen kannst. 6ächstes Jahr kann ich dich viel�leicht mal besuchen. Bis dann,  Deine … �2����������� ���������
�������
������'�C������ ��� ������� ��������� ���� P������ ���������L�����������M� An ‚JungWallDäBoRum’, dem 15. Januar nach dem Mondkalender, wünscht man sich ein frohes neues Jahr unter dem Voll�mond und bereitet sich auf kommendes Jahr vor. Beim Anbruch dieses Feiertages verkauft man seine Hitze an die Leute, die man zu�erst trifft. Das klingt ja komisch, oder? Aber das mache ich selbst auch. Danach knackt man 6üsse, um die Zähne gesund zu machen. 6ach koreanischem Glauben treibt das Knacken den Teufel und die Krankheiten aus. Beim Frühstück isst man gewürztes Gemüse wie Zucchini, Gurke, Pilze und Farnkraut, die du im einem reanischen Restaurant probiert hast, und ‚OhGokBab’, das aus Reis, roten Bohnen, Gerste und Hirse besteht. Und dann schreitet man auf die Brücke, um seine Beine stark zu machen. Die Brücke und das Bein heißen beide gleich, ‚Dari’ auf Koreanisch, und deshalb glaubt man, die Brücke hat etwas zu tun mit dem Bein. Am Abend steigt man auf einen kleinen Berg und wünscht sich dort eine reiche Ernte. Mit einem Feuerrad geht ‚JungWall’ zu Ende. Leider behält man diese Bräuche nur ten bei. Gibt es in Deutschland so einen ähnlichen Feiertag? Schreib mir bald.���� #����������
������	
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�����������������������!�0���'��%��Beim wichtigsten studentischen Sportfest in Korea – den „KoYon Games“ – zählen nicht so sehr die sportlichen Leistungen auf dem Spielfeld, sondern das gemeinsame Feiern der Stu�denten auf der Tribüne.  2������ ��� �������� ����������)����������������� ?��%�����C�� #�?&� ��>$�� E������� �������%��� ���������������������������
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��� ������� ���$��������� +��>�C������ :
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���������� ���� ������� ���� �$$��� ���������=C������ ������������ ��������� ���� >������������������1���������������%��������:�������������1���������������������������� 
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����������$:�� 1�� 1������� ����� ���� ������� ���� ���1���P���� ��������� ���������������������������������������������������������������
�����L��� ������� ���� ������ P���� ���� 8��
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���� ����� ��$� ����
 ���O��� "��� ������
�� 
������� @����A�� ��������
��������������������������
�������1�������� ������0������� ���� "���
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����������O��� :
��� ���� ������������=�������������������1����0�������������B����� ���� ������ ���� ������ ���� �>C��������� $�:���� $������ ���� G���������
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������$��������������������������������������������$�:���������1����� ����� ��������� ����� N�� 
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���� ��������?�������1���� ������� ��$� ���� +�����>���� "����������������������������$�����������
����������� ���$���� ��������� ������������ ���� ������������$������
�������)����B������N��1���'���>�������������������� ���O�������������%���� �������  ��� ������� ����� ����C�
��� ����)��������������������������$����������%����������� ����� ���� ��� ���� ���������B����2������������ ��������������� ���������� ����������������$�� 1�� %��
������� ���$���� �
������� ������ ?��� ���� >���� 
����� ����  ���������� ���� +�����>��� ���� ����� %���� %�����R����� ����� ����� ����� �����1���R�G���� �����4<<�����������
���1���0������Busse, Bahnen und Inlandsflüge sind zu den wichtigsten Festen in Korea, beson�ders Chuseok (Erntedankfest) und 6eujahr (nach dem chinesischen Mondkalender) 
monatelang vorher ausgebucht, und die Unglücklichen, die kein Ticket mehr be�kommen haben oder dorther kommen, wo keine gute Verkehrsanbindung besteht, müssen darum mit dem eigenen PKW fah�ren. So sind während der Chuseok�Tage täglich 6.5 Millionen Autos mehr auf den Straßen Koreas als normal, fahrend, krie�chend oder stehend. Für die ca. 450 Kilo�meter von Seoul nach Busan kann das bis zu 20 Stunden dauern. Moderne Handy�Technologie macht das Ganze nicht besser, aber durch das System Road�Plus sind die Fahrer immer darüber informiert, wie lange es noch dauert, wo man vielleicht etwas schneller vorwärts kommt und wo man besser überhaupt nicht fahren sollte. Was macht man aber, wenn man so lange im Stau steht? Gerade Koreaner, die in der ostasiatischen Region eher durch ihre Spontanität, manchmal auch gepaart mit Ungeduld, bekannt sind, haben da natürlich ihren technischen Erfindungsreichtum eingesetzt. So ist heute nahezu jedes Auto mit einem 6avigationsgerät ausgestattet, das gleich�zeitig auch als Fernsehgerät betrieben werden kann, und so begleitet die geliebte Seifenoper durch das Verkehrsgewühl. Daneben verfügen Handys über zahlreiche Internetfunktionen, so dass man immer, auch in der tiefsten Provinz, irgendetwas Kommunikatives zu tun hat. �"��� ����� N�� ������� ����� ��� ���� 
����������'�B�����������������������������������%�����L�������� ������������$��������������������� ����� ����� �������� 1�� ���$$��� ���� ���������'�����%����1������������)����
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 � � � � � � � � � � � � � � � � � � � � � � � � � � a � � � � � $ � 1 � � � � � �  ������I �����7� #(-6-�� ((;�$$�&� ��
��� �������� 1������� ���%���� ����� ���� 
������ 
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����1���������������������������������������������� �7>������������������� ��� ������ ��������������������� ����������� �C������ ��������$�1������� ����� �����$�1������� %��� ,7>�������� ��� 0������� ������ a���������%����7>����������������� �������� ������� '����� ������������������ �B����� ���  ����� �������7
������� ������������������������� 
����1��� 1���������$:���� �������� 
>�����������=���������� 1��������� ���� ������ ����� �������� �������� ��������� ������
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��$������ +��������� ���� ���������������� ���� ��������� =������� 1��G���������1�>������+��C��������������������������
C������ =�
���������Deutsche Erinne�rungsorte,� ������ ��� ���� 1��:������������P������ %��� 2������� ��������� ���� ,����� ����1������������
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